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DO0000000000000 #ifndef C_Class #define
C_Class struct #endif C_Class A{ C_Class A *A _this. void
(*Foo)(C_Class A *A _this).inta.intb.}. C ClassB{//BL O A
C_ClassB*B_this. //00 O O O O void (*Foo)(C_Class B *Bthis). //
OO0 inta.intb. intc. }. void B_F2(C_Class B *Bthis) { printf("It
ISB_Fun"). }void A_Foo(C_Class A *Athis) { printf("It is A.a=%d
"Athis->a).//0 0 0O 0O /exit(D).//printf("O 0 O OO OO ™)./
000 }void B_Foo(C_Class B *Bthis) { printf("It is B.c=%d
",Bthis->c). } void A_Creat(struct A* p) { p->Foo=A_Foo. p->a=1.
p->b=2. p->A_this=p. } void B_Creat(struct B* p) {
p->Foo=B_Foo0. p->a=11. p->b=12. p->c=13. p->B_this=p. } int
main(int argc, char* argv[]) { C_Class A *ma,a. C_Class B *mb,b.
A_Creat(amp.b). mb=amp.a. ma=(C_Class A*)mb.//00 O 0O O O
O printf("%d ",ma->a).//0 0 0 00O OO0 OO O private
ma->Foo(ma).//00 O a.Foo(amp.b)./0 000 0OO0O0OOOMO
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